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( Borany ]
Study the following lists.
§0b ool egiohlo R0%H08E.
List-l e - | List-1l e - 11

A) Plants bearing fertilised, I) Amphibians of the plant kingdom

naked ovules

HobEdno TobS $if) ool HEooey el ohiSoren

S0 Iy en

B) First embryo producing true
land plants
SWALVIRele:0) Jfn{ole TR AL
o S0F)e0
C) Embryo producing first land plants
208 DD PSS Jo g eo

D) Seed producing plants haviing
differentiated megasporophy''s
DFSS0 BodS Jpe JEATD
Sleren O, Dol 5P
00

The correct match is 2& 335 £°&0%)

I1) Herbaceous or woody plants that grow
in almost every rind of habitat
@) ST PO Doy So
TeHanat S en
[11) &-1rst archegoniate vascular plants
TV Eeperprodlodans, Iwee e AR
SSron EOAS g en
V) Chlorophyllous, aquatic thallophytes
HBS® e35b0 DD STBSNS,
S DS en
V) Group of mostly perennial, evergreen
woody plants
aacfmmgs’, VEE PO, PHANE 30 en

A B C D A B C D
Qv 1 IV @1I1v 1 m v
Qv I I @1 1 v

Space for fough work
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2. The apex of an organ or an apical bud is modified into different structures for pro-

tection, climbing, vegetative reproduction, reducing transpiration rate and sexual

reproduction in the following plants respectively. Arrange them in order.

& (80b oS woro &) e(ferrio
D58 80, erdBFE GreR) Shoseed
TEA JBS (00’ wddpd.

1) Yucca oswsy.  |1) Nabhi
V) Carissa wos) V) Squill
The correct order is

86 BBS (EHo

@IV 11V
@IV 1V LI
@1 1V IVl
@1 Vv IV I

o 05080 886 500, SNErsSmd, #8900
D8, Bony (Hekgehd &0 rarodo Bomeowm.

08
?o&.ogéi_

nyLily o

A plant with specia pattern. of ato
inflorescence with flowers asoi'cws.
(BEEDS D088 HEDTPIC, DU HY
GOEPON.
(1) Sessile, unisexual flowers in acrope
Syehicitil NEDoK o@i@w, e (P
(2) Pedicellate flowers in acropetal suc
é@oé‘éﬁ:@é ZQ)Q[‘DQD, @[Pé_)ﬁ"d (&0
(3) Pedicellate bisexual flowersin cent
é@oéﬁﬁﬁé, &Dg@oﬁ KQ)Q[‘DQD éo@c’é’_)ﬁ‘
(4) Sessile, bisexual flowers in acropet:

nate phyllotaxy and multiple fruit bears
O &) 0 S° HXDTH0S® gwrod Haryen

tal succession
5 (E00
cession

ipetal succession
8 [0
l succession

FoSSerS, &xdorf Haren, e(PHIC B0

Space for rough work
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4. Theinflorescence in the following bears bisexual flowers.

8o& 53352,&?3?0 @&/10383@5260 &xdors @ﬁ‘g@?&) EOA &otnod.

Code M 2012 A

(1) Cyathium Iovs IO (2) Hypanthodium 238 §°&a%o

(3) Spadix A8 (F) Verticiasier  S5ergo

Study the following lists.

& [8ob rdorod wEiehdo BaHod.

List-l ere - | List-1l & - ||

A) Achlamydous unisexual flowers 1) Allium
BSOS Ao Hayeo esdHo

B) Homochlamydous unisexual flowers [1) Smilax
DHHOH(S0E DK Hareo 25°8)

C) Monochlamydous bisexual flowers [11) Euphorbia
335566@50‘533&‘? &xdor a’g)ﬁlgen oﬁwvif‘s%dﬁr

D) Homochlamydous bisexual flowera V) Amaranthus
SHHOB(E0E xdorf Haryeo 93 0TPOE R

The correct matching is
286 335 £°80H

A B C D
MV IV 1o
@I Vv IV
@ 11V
@1 vV IV o

V) Ruscus 8%

Space for 1

ough work.
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6. Select awrong or un releated pair from the following.
80678 S® HomQ, HVozoio B @85 HBoB0A.
(1) Assimilatory roots - Monarch FocohESe I - WHED hEo
(2) Orobanche - Diarch roots folPimul = TRy
(3) Root nodules - Triarch roots S A D - (BRESHTHE 3K
(4) Balanophora - Tetrarch roots BoSoe - S PFSHE I
7. Number of mitotic divisions that occur|in the zygote of typical angiospermic plant
to form pro embryo
e.-sé@éé%as J0F), Voo Deso $0D (HSiDoco QY58 @207 Koo Defaden
(D 4 (2 3 (3 2 (4 1
8. Find out the incorrect statement.

DBz @53332353 DB oK.
(1) In Pisum sativum, hypocotyl do not
20 ¥BHo DFTren e TS LY Y
(2) The seed of Piper has both.triplz . ¢
PHE DETS SEHREE, (onHBE
(3) Seeds of Orichidaceae are formed a
SEEVS® D0 [oakuy, Hodrro
(4) The constituents of completely dev
gamets.
O eaé’)é@é@b BoOS DAV
deho.

eivngates during germination.

SPamsyo PED K.

nd diploid nutritive tissue.

b3S Eevezoeen GOETPoM.

fter syngamy. Triple fusion do not occurs.
efala Q)dgc‘é@ow. (BJo&Berfo e8¢,
eloped male gametophyte are naked except

Dusostd  BoRBerdezen &5) DADS Eeeen

Space for 1

ough work.
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Study the following lists. List - | consists characteristic features of the fruits and

List - Il consists the development of the fruits.
808 @il STAWINTS R05H08. e - | S Here R0y, @635?5 ©FePen 0BA5N

epdee - || & ¢ 0DHQ draren 8k

\/9:4"\'

List - |
A) Stony endocarp

S — |

8o¥ erod 0o deEsEo
B) Pulp encloses hard seeds
Hepsthe K8 DT
C) Fleshy Fruit with hard pericarp
K Hovsuo eX) ok SORS HU L
D) Fleshy fruit with leathe'y =sicarp
and papery mesocarp

SOOI epiy HoESEo, By S
&0a 263(}55 DoESSo 1%;6& Sodre Herd

DO

List - 11
1) Multicarpellary syncarpous multilocular

e — |l

superior ovary.
QTVHOEY, DoAY, 20TV, ‘%Bgﬁ
e90T°% 000
I1) Monocarpellery.or Multicarpellary syn-
carpous, 1:iocdlar superior ovary.
QEHOZY T 2av0HdosY, QoasnE, Y
ey, N e90E 50
115-S/ncarpous gynoecium with unilocu-
lar inferior ovary.
Q¥ De>asnes, Q&) womd oo
doosny ewoksso
V) Bi or Multicarpellary syncarpous

1%26&

gynoecium with inferior ovary.
&g B 25T0HEE, Dok, SR
oI Ho &) woKsHo.
V) Bi
superior ovary.

or Multicarpellary syncarpous

BEHOEE Boe wfvHesy¥ Hookuy &g]

9058850
The correct match is 26 335 %80
A B C D A B _C D
@ v oV @ 1 v v ol
R U v v I 4 u v v

Space for rough work_
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10. Assertion (A): Bulbophyllum can survive during unfavourable conditions.
B0 (A): addyo [B8Ere HoJHo StpHotwod.
Reason (R): Theinternode in it stores food and water like the leaf basesin Allium.

Q38 (R): &I Sead) S8» esdKos

D006,

The correct oneis

(1) Both (A) and (R) are true and (R) i$ the correct explanation of (A).

(A) L0805 (R) Boe 3350, (A) ©
(2) Both (A) and (R) aretrue but (R) is

(R) %35 25Ses.
not the correct explanation of (A).

(A) 56050 (R) Bocte 35352, w0 (A)© (R)$35 5. 5.

(3) (A) istrue but (R) isfalse.
(A) $80s. =0 (R) 338086 w°c%.

(4) (A) isfaler hu (R) istrue.
(A) SBoti=. =0 (R) Sgob.

11

|dentify the series based on the characters ¢iven and arrange them in ascending

order basing on the number of ordersin \en.

8od ofere eprdorr [Fmwodd HBaR,
XEPE&.
A) Thalamus is cup shaped:

?/.g)iz)é(‘éo Ao S90S Goenod.

PSS (FSre Sogg 20 s8ren  (Eood®

B) Gamopetalous corolla, ovary superior, carpels more than 2.
@égsa JErS? Dodsngo. eomeddho %3%30, PoSeren 2 Eoks EYS.
C) Homochlamydous perianth, Trimerdus flowers.

SLoD8D(Gsuso, (Berrcing Hare.

D) Thalamus is disc shaped, present argpund or below the ovary.

HaPpLo HEo wssos® sotwod. el
E) Thalamus is elongated, conical or

[DlelesT-Towvle 53@:3;; S 808 Gotnod.

CQHVGX .

@3{36260 PR S §0H eo o Hogrsesoss® soenod.

() CDBAE (2BCDEA

(3 CBDAE () DCEAB

Space for rough work.
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12. Read the table.
800 DS eessoHiSo BOH04.

Code M 2012 A

S.No. A B A:B
l. Number of groupsin Cohorts in Bentham & Haoker
Charaka Samhitha classificgtion 2:1
B8E30%eS855  DdoesTte Bogeo, Jeosd 26?3’68@6%
Soayg 85580 Hoay
. No. of sections proposed | No. of sgriesin Monochlamydae
by Susrutha & Mondgcots put together 35:15=7:3
DS (BOFHoDS IS, ESY DD
Nero doag [Bemre Ipso
[11. | No. of classes proposed | No.of Chromosomes i the
by Linnaeus pollen of Oryza
OJNOHT (HBFBODS 2.8 DY 00V ST 2:1
S8riHe Doayg E° 3 S Soayg
V. | No. of stamensin NG. /0 “Saminal tubesin
Crotalaria i Gassypium
[E°¢8005® eRnchodt Y Sowe 1:1
8dore Koy oo Oqay

The correct combinations are
28 3338 £280H

@1, 11, 1 )1, 1 3) 11, 11, 1V @ 1,1, 1V

Space for fough work



indiavidya.com
indiavidya.com

Indiavidya.com

Code M 2012 A

13. A member of Solanaceae can be differentiated from other family members you

studied by the following characters.

I8 TodS I AP FHDS 98y Hewoere Ao $0d od oFre PP %

SISVREN

A. Axile placentation
Q085 ©0ETgd0
C. Valvate aestivation
Sareroind HRBSS
E. Swollen placenta
&S eosTRgd 5@%0
G. Adnation of petiole with stem
S0 ToKos® es3des BodsEo
()BCEG QEG

B. Superior ovary
%agog Llelesk:fovile)

D. Epiphyllous stamens
HOD(EHBRE Tdoeen

F. Endospermic seeds
@OBNIWE JarE DE e

(3) ABCEG (HDEFG

14.

Pollination is symbiotic in

SRS Arbos® 8ob Iy S HoertHcy
(1) Spanish Dagger R& @

(3) Sarsaparilla  $38358em

50&.0 2D,

(2) Squill S
(4) Red dragon 3&E ([@AS

15.

Cell theory is not applicabie to
Seadrzodo HRS HBOUWH

(1) Prokaryotes So(s8 Frateden
(3) Unicellular plants dsse S0 en

(2) Bacteriaonly  ex860se
(4) Virus 8

Space for 1

ough work.
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16. A DNA fragment has 9 loops. First 3 loops have 10% Adenines, next 3 loops have
20% Cytosines and last 3 loops have 30% Thymine. What is the ratio between
hydrogen bonds of first 3, next 3 and last 3 loops respectively?

Code M 2012 A

28 DNA podeos® 9 3530 samon. I
20% RS e, 950 3 ¥sx 30% @<
TEaS worre Ky B, dod?

58 3 5558 10% ofases, So8 3 555
DS e GINON. ISE, SoNS, DN 3 %’sge‘iféb

(D 1:1:1 (2 1:2:3 (3 7:6:6 (4 4:3:2
17. Read thelists.
o wgiohio B0Hod
List-1 & - | List -1l -1l

A) Parenchyma becomes sclerenchyma
SYERFeeere0 ()EEeeroornt K$3thedo

B) Parenchyma becomes collenchyma
Ky)eEensre0 263(3@@8@ Ee9e3°00r ™
SN0

C) Parenchyma becomes meristemaiic
S EoEever o0 Deresg EearPu e
SN0

D) Meristematic tissue changes to
permanent tissue
Qgresg Ee0eee0 f3°%3’§e5 Eeaere0re

S0

(4

1) Cortexor >icot stem
N &‘osc‘%g\& 008D Sy 00
Iivintercalary meristematic tissue

56365523 Deesg KeaezoeTeen

[11) Monocot stem
NS Des w00

V) Monocot roots
DESEDes I

V) Dicot leaf aqessde S(go

The correct matching is =& 333 #2845

A B CD A B CD
@iv v | @u v u v
@) 1 VoIl (@ vl

Space for rough work
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18. Assertion (A): The number of annual rings is not always an accurate parameter to
estimate the age of trees.

DB (A): HHo G SaDo ewosae Bohios® FRE Sodkre dogy SMEIS S

80 A WNHW)

Reason (R): In tropical countries like India, annual rings do not appear clearly, as
the seasonal variations arg not sharp.
3G (R): ars8diooros effioterd|HEHHS’ B Srdnes B8PS0 Sy 88
Hoakren Sfore AEVESD.
(1) Both (A) and (R) are true and (R) i$ not the correct explanation to (A).
(A) S8cs» (R) Bokr 3350, (A) & (R) 938 Q88 5.
(2) (A) istrue, but (R) isfase. (3) (A) isfaea bui (R) istrue.
(A) 380s =0 (R) 338086 w°¢%. (A) 8o s =2 (R) Sgod.
(4) Both (A) and (R) are true and (R) i$ the carret-explanation to (A).
(A) 538050 R Boire 5385, (A) % (RiS3 D586

19. Pick out the correct combinations~"T:| exgen H80H0&

List-A @0& - Al List-Ex~9e | B List-C wae - C
) Typha Amphioious Partly in water & Partly in air
RSEvd &8 CHSS Fggore B, FgLore oo
[1) Ceratophyllum | Submerged Rootless
REEFH0 9300S0 S5HS
[11) Agave Leaf succulent Drought evaders
®NS 838508 Hlgrend) BOPEPTPY) SNOIHHID
V) Calotropis Shining, glazed Jeaves | Non succulent
EOREVIS 08D Hleren 8385880 O

Correct combinations are & $¥38 £80)

(1)1 & I 2) 111 & IV QU&IV  @I1&Il

Space for rough work_
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20. Bateson and Punnett worked on Lathyrus odoratus. The dominant pair of characters

they selected in it are

BeJ), NS rdR LETO0P HBTES VSYO TH INHY) WS oFEre wd

(1) Red flowers, long pollengrains
EHH o“g)c%{"o)@o, DKL) HoerfBeansyen

(3) Blue flowers, round pollengrains
Do Harye, HolEe Soer{Geansyen

—(2) Blue Hlowerslongpolengrains

Heo Zg)i{j)en, KL Do Beansyen
(4) Red flowers, round pollengrains
AP Dk, HolEd Soer{Gensen

21

Study the following lists.  erdeoly o

List - | erd&- |

A) Proplastids

B) Dioecious prothallus
EDOrFon (HELSToHS0

C) Monoecious prothallus
egdorr(Fon (©HESroddo

D) Juvenile, alga like gametorivte
A3 OL 31S Sodnrt. Bexeso

The correct match is =& $¥335 £°0¢

5050 Babod,
List - Il erder- 4l
I) Plant bearind, naked ovules
26@&90 Pk 80T S0
I1) Firemass
25370
1+5 Diploid resting cell of Spirogyra
2T SohRE Doeodeideo
V) Sporophyte with symbiotic roots
JEmdo Fhod IgK) degdado
V) Frond bearing rhizomatous autotroph
SEON [rog &) éogoﬁao@'scﬁs’o

A B C D A B C D
@u u v @ 1v u u v
@m 1 v 1 4 m v |

Space for fough work.
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22. In Rhizopus stolonifer (+) gametangium and (-) gametangium have 50 and 40

Indiavidya.com

haploid nuclel respectively. They participated in gametangial copulation. The

resulting zygospore after germination

Code M 2012 A

produced germspores. What is the ratio

between (+) germspores and nuclei pregentin-(+)-gametangum.

B0 @;@@33653 B0dS (+), (=) 934
40 crbéi’gééé SolrenTmyon.  ed Ko@)
&S Hoasng, ?oc(gas)ao ISWIELLENES e 3532:3?0%
e, (+) DoFBrerderd0Host Solesw

P> Socss DG, do&?

(1) 8:5 (2)5:8 32:1 (4)1:2
23. Funaria gametophore is directly produced from

HERBaTe RS BIK0D SO S0,

(1) Tubers $r055en (2) Gemmea Bomen

(3) Protonema  ($&S080 (4) Socre Rggdeo

T8 Bods DodrK Depdaird® $oHdme 50,
o5 OSTe éoéd&oé‘s ﬁésaaow. HOSore 3365;)
Dogoen ;360363(;033. (+) DBSTI BodS ef)a?ocg

24,

Arrange the following events of Catajl
S&Fe aSro(@seR8 BodS 8od DLoLiera e
A) Annulus absorbs water
SocHho BB (Kerdos
C) Annulus suddenly flips iorward
SOCHO BEPeNS 00HE DorHeHod
E) Sporangia wall ruptures
REDeFaH Lotdo Brbensod
The correct sequenceis =& 885 [Ekoa
()ABEDC (2EBACD

't mechanism in order.

5 [E008° edodod.

B) Annulus contracts
$00H0 Do DN

D) Annulus bends backward
SOCH0 IKESD HorHeod

(33 BEDAC () DABCE

Space for 1

ough work.
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25. The ratio between the maximum number gamets produced by one microspore and
one megaspore of cycas
ER F éﬁgé?ocggbao, a8 KD;@?ocgéy)a\go a8 DD 0Xoy BoBeriere LG5 AN,
D1:2 21:1 (3} 41 414

26. The following characters are concerned with gram —ve bacteria
808 ofere® (& (—ve) exddosr® H$gendodS e HoNod.

A) Presence of Mesosomes B) Absence of Teichoic acid
DI Soen soero Beronf eo TEFSE0

C) Presence of flagella D) Absence of Pili
Eeren 6okel0 2O BEJESEH

E) Presence of Pili F) Producticn ¢f Mycotoxins
29 Goeo DEPE T B Dobhio

(1)ABD (2 BEF A CLcF 4ACEF

27. Virusisequivalent to the following iri sructural composition
D SrcHdgore Bodare3s® JSsrelo

(1) DNA, RNA 8.35.., $5.35.2,

(2) Chromaosome, Ribosori e B3, et

(3) Nucleus, Nucleolus Zo($¥o, Bo|ESzro¥o

(4) Mitochondria, Chloroplast DeSPsro(Basr, 0SS T

28. The N value and Wp value in a cell when added the value that comes is zero. The
characters of such cell are
28 Ee08°Q I Denss, Wp Dendosh &rdd Qo &3 o oo ofere
AW =0
B) Plasma membrane is clearly visible | apd tae) Syborr wress)

C) Big vacuole 2E08Y D) Turgid state e 29
E) Plasmolysed state  £°8% (65555 $08°538
(1)AD (2 CE (3yBCE (4ACD

Space for rough work,


indiavidya.com
indiavidya.com

Indiavidya.com

AN\

29. Maize shows symbiosiswith  3wge°8) 8obarlds® S&rdsso SrHsbod.

(1) Azospirillum, Fungus

(2) Blue green algae

(3) Bacteria, Fungi

(4) Azospirillum only

Code M 2012 A

6995’53_)03690, 3d0o(S0
DO esHdify Fderen

eRe50a5, 390(¢50
eaaé‘sj&_)o)@go Soo(eSd

30. Study the following table.

800 DG eessoHSo B0H0&.

S.No. Class Type of Reactions Example
E0 Qa0 zﬁc"gééo WIS
Qo
] Oxidoreductases| Involve hydrogen tfansfer | Last c:"yme in Krebs cycle
w§BougE e | TEaS Sorer (3E 900508t b o@D
[1) |Lyases Involve Splitting off the | Arginosuccinase
substrate in the preger
of H,O
©SHeE e DB J%ogos® edk pezo PG IE
@&Qé&o
[11) |Ligases Formatict..of new onds First enzymein
by usng ATP Amphibolic pathway
BRE e ATPQ &3&R05H5R &80 (Hres HFoSt
EFE20mrol JNTEFo SWATARINIGYEASH
V) |lsomerases Intra molecul ar The enzyme required to produce
group transfer the substrate for Enolase
208K Tel en SE0TPasre weody Sarer | KSBE S SR STare
Slageich] QBB NoBH
The correct combinations are 26 333 £°&0%)

(@)1, 11, 11

) 11, 11, 1V

3) 1, 11, 1V (4) 11, 111

Space for rough work_
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31. Assertion (A): Cyclic photophosphorylation isan additional source of ATP required

for chloroplast activities over and above that is required in Calvin
cycle.

B0 (A): 308CeHS® 200 NS Focindswslors
Séoh S PINPBRS wthideos.
Reason (R): Cyclic photophosphorylat|on was first demonstrated by Frankel in the
chloroplasts of Rhodospir|llum rubrum.
288w (R): @ro38 Bwassrore S8ch [Pre’rampdiss 868 pypgo Hpo &0d
BeandS® DR80T,
(1) (A) and (R) are true. (R) explains (A).
(A) $8c50 (R) 3332, (A) & (R) 95 98es.
(2) (A) istrue and (R) isfalse.
(A) 580s. =0 (R) 33808 s
(3) (A) isfalse. But (R) istrue.
(A) $80s =%, =0 (R) $3os.
(4) (A) and (R) are true but (R) de ot pxplains (A).
(A) 8050 (R) 33380, =00 4A) &5 (R) 888 d58ee w06,

Space for tough work_
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Study the following lists.
800 erdarold wiiohdo Babod.
List - I (Enzymes)
O - | (QoBSow)
A) Malic enzyme
S5°0F Jogew
B) Glycine decarboxylase
Q@%Sc‘i FoNTE
C) Aldolase
EOIGES
D) Malic dehydrogenase
5808 &2r(&e3L

The correct match is & 335 #£°&o
A B C D

@n 1 um v

@IV I IV

List - Il (Products)
wé)@ —_ || ‘ﬁé\ﬂ\m\\
o L

l) Fructose -1, 6 - bisphosphate
$EE - 1 6- OIS
I1) Dicarboxylic acid
gond)08 wd& (o)
[11) Pyruvic acid
PEDE esdo
V) Sedoheptinase - 1, 7 - bisphosphate
DEIHTE - L 7- AR
V) Seriri=
298

ABC D
@11V IV Il
@1 1 Vol

33.

If al the reduced NAD and FAD forme
participate in Electron Transport systen
in inter membrane space due to Quinon
THDEPE DS e oG airs® O
Sared S 3"6:5&0“9)5&3 &S Soch
HY oo Swedo Ay

(1) 104 (2) 92

d in mitochondria during aerobic respiration
" how many number of H* are accumulated
e cycle?

NG Eohsdeso Boand NAD, FAD @ﬁ)& QO%S
D e S5O eﬁszﬁé@oe’i‘sé ﬁgat’oécfo B0HS

(3) 48 (4) 40

Space for 1

ough work.
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34. The following substrates participated in aerobic respiration. Arrange them in

ascending order basing on their R.Q.

808 Y e FANdird FPBHS® rSInow RQ. & wirdo THd e

wree (E5008° esdd.
D) C18H34032  E) C4Hg Og
()BFDACE (2 DBFCAE

C) CoHy0,
F) Ce H12 Og

(33 BDFAEC (9CDBEFA

35.

Study the following lists.
808 erdarold wiohdo Babod.
List - | (Sites of reaction)
wO&- | ($8; 200 @;260)
A) Mesophyll cells of C4 plants
Cy oo Jerods Seren
B) Mitochondrial matrix
DE° OGNS Koo B
C) Cytoplasm of anaerobes
95 O5NEHe Eeo( 55550
D) Cells of root nodule

3 & e Keren

Correct matching is 2& 85 #£°80%)

List-11(Enzyres acting on Pyruvic Acid)
OS] (205 8%0% WV JoFw)
1) Py uvie decarboxylase
25 dseongPE
1 Pyruvic dikinase
25eDE @BIEL
[11) Pyruvic kinase
25eDE BIE
V) Pyruvic dehydrogenase
28608 A2r(&e3L
V) Pyruvic dehydrogenase complex
208 d3rE* R3S Do8o

A B C D A B C D
@n v 1 v @1 v v 1
31 v I v @1V il

Space for rougfrork
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Find incorrect statement.
8oarlS® SXyy aegagd HBoEoE.

Code M 2012 A

(1) m-RNA aways starts with Purine and also ends with Purine.
M-RNA dginere S8 8° i8St wodsdoes.

(2) Initiation codon never occupiesA s
B A-é@g@;@&)& esoey
(3) Cytosine is never seen in either init
es808s DoBEoS?, 208l YoBsos® D
(4) Polypeptide synthesis is completed
B P-Sogrso $¢§ O]

te of Ribosome.

0850 CDK))Q&P e3(E0IC.

ation codon or termination codons.
5PRS QYT S0,

gt P-site of ribosome.

D& QD03k80 PEHNd.

37.

The hormone which is mostly produce
system acts against to other hormones |
el 26525{\3@5*5 QEY S Eosrg (Psrowds &
$5BTLore HATR0B.

A) A B A regarding stomatal movemen
B) Auxins regarding sex determinefion
C) Gibberéellins regarding darma icy.

d in root systent and translocated to shoot
ke
oGP eié 5’3“566&5 808 Dorr 288 XJ*S%S@&

S HEB8o§ Soxesd® ABAS
doX &)goﬁooe‘i’s @535@@5
oapsRd® 2e)B0Sed

D) A B A regarding senexcence. L585° ABAS
(1)BC (2AD (3)AB 4ACD
Space for fough work
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38. One of the following is not first discovered in Maize.
A0 S* ook EHEYR TRy HBoEOE.

(1) Hybrid vigour
(2) Chromosome map

DogsAx0

IS8R50 Ehoy Ramolémeny
Sooo e SRe

(3) Cdlular totipotency
(4) Cytokinin

?0@5@5 éS”éS@"é?)é’OQ
OS]

39.

Assertion (A): EcoRIl isaRE

I8ygo (A): Eco Rl o8 RE.

Reason (R): pBR 322 isan artificia R

36 (R): pBR 322 o8 )8 RE.

(1) (A) and (R) are correct. (R) explain
(A) $8050 (R) en 3330, (A) & (R

(2) (A) and (R) are correct. (R) do not ¢
(A) $8050 (R) en 3330, (A) & (R

(3) (A) isfase. But (R) istrue.
(A) 85 =2 (R) $god.

(4) (A) istrue. But (R) isfals=
(A) dgod. =0 (R) 8

=

SA.

) 988 Q.
XSS (A).

) {28 DS 6.

Space for 1
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40. Read the lists. erdarolh wiohio R05H04.

List-1 & - | List =1l ez - 11
A) Protein content of Mushrooms ) 3-4weeks
DGFHHS P 3- 4 >oeen
B) Protein content of Bacterial SCP 1) 19-35%
ergdoose SCP&® (R 19- 35%
C) Incubation of tissue culture vessels | 111) 2 weeks
Eeoeee 5%5260&3‘3 aoé:?gé.%aﬁé_ 2 SPTPED
D) Incubation during spawn productior| 1V) 45 - 80%
NS aHBS® gosgBIS 45 - 80%
V) Many weeks
ORI aATP0
The correct matching is
28 985 &80
A B CD A B CD
@irv o @n v 1
A 1w 1 v @IV i v

_5pace for fough work_
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( zooLogy ]

41. Infective stages of malaria parasite to the human RBC are
SIS JBE, Sewrord LHB0ase S A ro(Eoes S en

(1) sporozoites, microgametocytes, mef
ﬁ’%ﬁsé’soaae;g, Kmé& 6003?(‘%523@6@5

(2) cryptozoites, micrometacryptozoites
8P et ot gy oer(@L e omey,

ozoites

o, o&°estamey
5, Merozoites
&g ooy,

(3) cryptozoites, microgametocytes, merozoites

Léi):;zé'aoaaé;g gy éo&rﬁg)&éyé@&

(4) trophozoites, cryptozoites, schizonts$

I SF e, @@:;é‘soaae;g R0ty

b, Qo&%estoney

D

42.

If a queen bee mates with one drone, the
IS

BEI8K o8 (B8 SeEd Dorues
D DFore Gotno?

shariny of.genes among its female offspring

[Sogjed o83 é Qoeelo ESVAGENSVLS H0ed

(1) 25% (2) 50% (3) 75% (4) 100%
43. Parasitic adaptation shown Ly liver fluke in its host is
s8Fons® O Lpf S wdhEreto
(1) it causes gigantism in snails
S8 bsaneso Sordaho
(2) it increases the rate of cell divisiongin host cells
SAPON B0t Keadaad Tend oo

(3) production of multiple embryos from single zygote

28 ooy Do £H0D ©IE Howen

crbiﬁgdnzﬁ)éeéc‘éo

(4) it causes enlargement of host cells

e9DPow Kegeen bfgéds%@n fevetete)

Space for rough work,
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44. The paired collecting and distributing vessels in earthworm are

FITE0S® wdenrr Go% ¥ KB
(1) dorsal blood vessel

(2) anterior loops

(3) dorso intestinals

(4) commissural blood vessels

028 ¥ aegeen
QDY EFo

\/agp"{" Qzoneyy
A

K)@ﬁgo@ﬁ 8E SPgeen

QOTPOHE S Tegren

Read the following.
|) Body is covered by cilia
I1) Number of nuclei is more than one

80O $8K0d.

Aro F0E0S EHwa Gonod.
'550@53%3 éogng 2,883 ¥o&s cbéa&.c‘é.

I11) Longitudinal binary fission is the method of asexua’ renroduction

B80HE HEIMNE »PonE (DS 4
V) Infraciliary system is absent
The above characters are related to

DeeSo.
Q) Fheancdh S0 Bk,

2. o 88 502050052

(1) Vorticella £ ex 2) Zcogloea 23 oS

(3) Zelleridlla  z88c0er \4) Toxoplasma  &*&haram
46. Podomeres of cockroach leg are isted below

Qo8 50 TEWADNG S0l 2lgBI

A) Trochanter  (&5°80¢xd B) Tarsus PR

C) Coxa §°s9) D) Tibia &3S

E) Femur 9506

|dentify the correct order of the above
280 Sdoarfo Kod Eroeiio JHFDH
(1) CAEDB (2) CDEBA

rom proximal to distal ends
JBS (B0 8008,
(3) CEBDA (4) CBEDA

Space for 1

pugh work,
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47. Match the following.
80O wSJ8 S04,

LIST-1 288 - | LIST- 11 $&% - I
A) Plasmotomy ap%esan —H—Plasmodium—Se880%0
B) Gamogony mReA [1) Acineta 9D IET
C) Endodyogeny Qo&fs&@ez=d [11) Opalina 22RO
D) Budding sy sso IV) Toxoplasma  &*&%apay
(D) A-11, B-I, C-1V, D-llI (2) A-1V, B-1l, C-ll1, D-I
(3) A-l, B-11I, C-II, D-1V (4) A-111, B-1, C-1V, D-I

48. Which of the following is essential for the absorption ¢! ca!cium from intestine?
06 LoD Qo 560 BoSTIE B hSIEL05)KTD:
(1) Castleintrinsic factor =505 a0 F 570
(2) Thyroxine  @oe§)S
(3) Caciferol DTS «4). Tccopherol P oS

49. Arrange the following in correct ordes with respect to their evolutionary periods
800S0 Hoero Bobd (T o BB [EXos® el

A) Labrynthodonts er(QogPrroy

B) Aves JHen

C) Coelacanths deoden

D) Cotylosaurs RS D

E) Mammals SSmpen

(1) CADBE (2) CADEB (3) ACDBE (4) ADCBE

Space for tough work
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50. The gland(s) which release out their secretions by exocytosis in the vertebrates
SEIHTS MY REDT T S ([Frareidh IedewH Jhde DD (Ko B (Howen

(1) Pancreas
(2) Sebaceous glands

SV [gteta

ol K%‘ol&{m&m oo

(3) Mammary glands
(4) All apocrine glands

S
S55ogen
@@ﬁgs @ocﬁaoﬁ)&

ol

In Drosophila, XXY chromosomes expi
forms a phenotype called
(Eers® XXY [E3restioen § £ o
(1) Turner female

(2) Klinefelter male
(3) Klinefelter female
(4) Turner male

ess female sex but in humans that condition

Heomon 50 SN’ wb Sordd &igsrdo
NG Q
SO YB DD

SR

@

SO S

2.

At a given movement, a human popul
growing at the rate of 1,00,00Q indiv:ay
that population would be

Y VL0508, SSE Loeere® el
100,000 385 00808 wSr)ehod. e
(1) 0.26 (2 0.1

an contains amillion individuals (N) and is
lals per year then the specific growth rate in

WADHS  KHenTD. & @I D0SIE)oR8
ONS s eseere® C‘D%’cé EHOEO BTen Noes?
31 (4) 0.36

Space for 1
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53. Statement (S): The level of species richness increases from high latitudes to the

low latitudes.
TiHg (S): 8 JKYFE eHS wgrore

500D (‘053& e:ogfo@@é HK0H.

Reason (R): At lower latitudes the gvailabih

resources are more.
Tde0 (R): dsy exore && Yo g
DR OT® &0EN0B.
(1) Both (S) and (R) are true and (R) is
(S) 208050 (R) Bocke daah S8 (
(2) Both (S) and (R) are true and (R) is
(S) 805w (R) Bodkr dazad == ()
(3) Only (S) istrue but not (R)
(4) (S) isnot true but (R) istrue

50, JE DESe0 SoBG%H S S5 @aj%é

the correct explanation to (S).

S) % (R) 535 d&es.

not the correct ex'sianation to (S).
5 (R) 935 Q%26 5965

(S) L w0 =D (R) woeo.
(S) dezo =% =20 (R) 3306,

The pathogens spread by both head lcu
&if, 3§ oo TTe aPgR Bod TCHT?
(1) Yersinia pestis and Mycobacter uiii
Q0ae P Kbakn S wrpLoano
(2) Borrelia species and Rickettsia quir
LA aeden 00k 68 o

S5 ad bed bug are
5 Ben

eprae

SR

tana

ovd

(3) Rickettsia prowazekii and Borrelia $pecies

BB (FS5S9F Lbokn &8Ot 4
(4) Salmonella typhi and Mycobacteriu
FIYIer B9 Ho00n DHE%goano ¢

AT TD)
M tuberculosis
wé‘a)dg.é%ﬁ

55.

Viviparous living fossil is
3PS DS Berao

(1) Sphenodon punctatus

@:3‘5@5 505&35

(2) Latimeria chalumnae
(3) Archaeopteryx lithographica
(4) Limulus

ePe35HB0 mw&ﬁg
$6)ar 208) IS mdE
é%ipeg@(%

Space for rough work_
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80O IO B DE L AodE BoHod.

Code M 2012 A

SKULL TEMPORAL FOSSAE EXAMPLE
QA FORIT S WIS

|) Euryapsid | above to postorbital a[nd squamosal Sphenodon

SHBASeNE 5663@5@63@?83, %’@&.@?83 ANSE &oeTPon %Qésws

I1) Synapsid below to postorbital ahd squamosal Cynognathus
dIN& JBI(S §seaco?8§, %’@&.@?@oé QDI ot DI

I11) Parapsid above to supratempora and postfronta | cthyosaurus
ey &8s FogrRs, B8 oordeRd AHSS Gotio 38 BPIED

V) Diapsid eitherside to postorbital and postivorita Cotylosaurians
doﬁwﬁa{ag K)dé)@égsea@?g%, DY er 5813%35 K051 GOLT0N @éﬁéé@“@oﬁa@

(1) Il and 111 I So8csn I 2) 1 and IV | Ko8050 IV

(3) Iland IV I Socs0 1V 41, 11, [, 11, 11

57. Opa among the followingis
80oare3® £35S
(1) UAG (2) UAA (3) UGA (4) UGG
58. In which of the populations prereproductive age group is far below than the other

two age groups

@Jeﬁ)?ge‘éo)@o @OCSCSCS%’ DAL B0t SBrHKTYsTte o83 aoer BEY S D eeerS® &onod?

(1) declining S0 aeer (2) stable QY aeer

(3) growing 20R !°eP (4) bell shaped K0P e

Space for retghrrorks
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The set of insects without mandiblesis
BS5%en B Lo DS

(1) housefly, butterfly, male mosquito
(2) besetles, tsete fly, moths

(3) grasshopper, female anopheles, dragon fly

(4) cockroach, mosquito, bedbug

&35, HersfEDens, St

Code M 2012 A

DBSY, v BN, oG

FHoE, &, $§

60.

In a nephron, most of the high threshol
é@é&@éye&oé‘s, QB0 Q08 E S0
(1) descending limb

(2) proximal convoluted tubule
(3) glomerulus

(4) distal convoluted tubule

1 substances are reabsorbed by
Pe DS 8Re0 Bod ewio
095885 PN

églao“aé Q0BOE ey

A RoBro

SrEY s 9

61.

Thermoreceptor centre in the brain of.r
HoRen eSS’ SR Zo(o

(1) cerebrum
(3) diencephalon agsi*%o

SN0

FPogrsd, el oTeddR, Srdr

RODI

(2) cerebellum
(4) pons varolli

0080, 0
S I8

62. The tissue transfer betweer: genetically|identical individualsis
sl 6l) SHe Ky 20D Sogro So0)d
(1) alograft SO (2) isograft DR
(3) xenograft (g (4) autograft (g

63. Jawless vertebrate that shows anadrom@us migration is
AP(EPLRD LoVH TP SHken B JEFEWIED-
(1) Myxine &S (2) Cephalspis DR
(3) Petromyzon  3(PRoerS (4) Hemicyclospis 30 e

Space for rough work
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64. Match the following.
80O wSJ8 S04,

Larva &oggo Taxonomical Group $888e ddnaraho
A) Trilobite larva 8s°a6 doasEo 1) L amellibranchiata e=3:9izrecbexm
B) Goette's larva A&y &oesso I1) Holothuroidea — &8%¢Pesoorond oS
C) Glochidium  A§&c%o 1) Trilobitomorpha B&*esioor,
D) Doliolaria  &fo&r8605e 1) Xiphosura 2eeo0e

V) Turbellaria BOAS

(1) A-1V, B-V, C-I, D-II (2) A-Ill, B-V, C-I, D-lI
(3) A-V, B-1V, C-I, D-II (4) A-111, B-1V, G=. D-II

65. Digestive gland(s) that secretes enzyme amylase
oDTE BIH (HD0B EYrod ((Hogdep)
(2) liver E0H0 2) Larcieas g0
(3) gastric glands e85 (ogoen ‘4) intastinal glands eso[ (fogen

66. In earthworm, the centres for glycoganesis are
FIFS0S® RERI™S Zoren

(1) supra pharyngeal gengi‘a 28130 adBogen
(2) hepatic cells E0H Segeen

(3) chromophilic cells 3208 Sewoen
(4) chloragogen cells LoeRBS Sewen

Space for tough work_
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Read the following.

80HPEID WEH0&.

I) Slender filamentous pseudopodia
S0htrdos® God IS DrgeTren.

Code M 2012 A

I1) Tips are pointed and sometimes br;

Fen IoSAO sotrow. E) QSosT

I11) Axial rod absent.
@éo‘i; §c§ €050,
The pseudopodia with above character

R ofmro rgrrols SOAS £ -

(1) Collozoum  &&%s0
(3) Elphidium  2&)&apo

hnched
58 Foa° 050650,
are found in

(2) Mastigamacha: sirgridoere
(4) Lecithiun; FdHabo

68.

The inflammation in lymph vessels dug
PSS DoEoe dg AT Teerd® &4
(1) lymphorrhage ©o8°3

(3) lymphoedema o5& s

69.

to the infection of filarial worm is called
DR Srotrd (eeqolo) wsiotrso?
oaroB8D

A DO STHR

\2) Lymphangitis
(4) elephantiasis

InaH - W population, “a yene has only
alele'A" is 0.7. The genotypic frequeng
&§—55a§ a3 e’ ek adxdd A, B
5"26%“9)26?30 0.7 evond RS0 BHo 4
(1) 0.14 (2) 0.42

two alleles A and B. If the frequency of an
by of heterozygous individuals.

S B0 TP DE ST 0. A SSIPRESY
3263?36700“3 5":6%“9)2630 oes?

(3) 0.49 (4) 0.3

70.

Perforins are released by
(1) helper T - cells T 3rend gesen
(3) cytotoxic T - cells pe&’er)s T Sewoen

SEPEH Depse B
(2) dendritic cells QoRSE Sewen

(4) plasmacells  pIygeren

Space for 1
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71. The study of transformation of energy in biological systemsis called
£S5 SI[S 48 drarodto Hood D weiahdo -

(1) Bioinformatics
(2) Bioenergetics

a)o?nvaégogé?)g@

(3) Thermodynamics
(4) Biotechnology

ar\?m\b\‘éﬁﬁ&gﬂ\)
S8 BS0E)
aao?nvﬁsgpé (éé@oé@s’%@o)

72,

The set of cell organelles acting as sitg
808 YY) Serorre SHS Koo ST
(1) Ribosomes, lysosomes, smooth ER
B Den, FUPIEDen, L0 o
(2) Smooth ER, rough ER, Golgi appar
500D @oééc‘é (BS&gere0, KK e;soéé
(3) Smooth ER, rough ER, ribosomes
50505 @oé@é (BS&geee0, KHS 9088
(4) Mitochondria, lysosomes, centreso ]
iaéS‘BS"o@o‘S?, BB, R0ETEE e

73.

for synthesis of cellular substancesis
o D03R0S® PTI0-

) @Seéegwwo.
atus

[

K (SSgEmao, .’.Jé;) Dogo.
o, (&g o0, B Soen.
ES

O.

Which of the following weres of ECG
g0 8)&5@68@0@’5 ECG 8 50208008 ¢854
P 500

T &S00

(1) Pwave
(3) T wave

coincides with atrial depolarization?
P & SNEDE Gotnod?
(2) QRS wave QRS g&or50
(4) Q-T interval Q- T doesoo

74,

Arrange the following body parts in as
partial pressures
S r8E Do wrrdorr 8obHaredd

cending order with respect to their Oxygen

s (F00e® 980808.
B) Externa atmosphere ersrsararsdeso

A) Alveoli TS0 eanen
C) Pulmonary vein  HHd 28
(1) DCAB (2) BACD

(3) ACDB (4) CDAB

Space for rough work_
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75. Epiphyseal plate of a child's long bone is an example for
DO TEDH ASNESE God IDPAHS Hoso BIE GrEeSes?

(1) syndesmos 2IEVYDen

(3) synchondroses

DI 0(ERen

(2) symphyses

-
—(4)-diarthroses $os=e8as
[}

76.

The factors that bring changes in genotypic frequencies without changing allelic

frequencies are

oS dFey FSsHTS  Seely Fortdo
SorED seEseen

(1) bottle neck effect

(2) founder effect

(3) gene flow

(4) genetic recombinations

hHom  BHeo 238058780 @"’Eégo@@egeﬁf ESvlen)

BSIE ADE (Fodf 08 ([Hardo)
5{;5’38’ 2o (Derse
(SIS

a3y S0 c i asren

77

Statement (S): EDTA isused in storin
T5e5 (S): 85AHS° $50) DeqBchzedl
Reason( R): EDTA removes calciuri
sic pathways of (iesd cog
Té00 (R): 85906888% OGRS, @0l
EDTA ofdod.
(1) Both (S) and (R) are true and (R) is
(S) L85 (R) ok dash. =0 ()
(2) Only (S) istrue but not (R).
(S) Loe&d deo =0 (R) =06,
(3) Both (S) and (R) are true and (R) is
(S) $o805» (R) Bodke assd SoBAs»
(4) Both (S) and (R) are not true.

0u2 .0od in blood banks.

FEUTAS &d&rA 5.

nswhich arerequired in extrinsic and intrin-
gulation.

BT DT 0SITDHE °QAHo  eaSrHo

not the correct explanation to (S).

5 (R) %858 D58 5.

the correct explanation to (S).
(S) © (R) 338 98e.

(S) S805» (R) 3ok Qao 9.

Space for rough work_
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. The cell cycle stops at G phase in the body cells (except in the gonads) of adultsin
Bredde Birserd® (DaPrd® W) Snsgo Gy aie®S & 98 sndison?

(1) Protozoans  (@%e®e855y (2) Sponges So@gen

(3) Roundworms #o(ge8 5Horen —4) Sea lilies 500en

. Read the following.
8od & 69655053260 R0%H0E.

National Park L ocat{on Protected Species

PE T 0 Fodg $8& erdoen

A) Periyar Keralg ligers and Elephants
208055 B8¥ : Heven, d&arHen

B) Gir Gujarat Tigers
AS H230° Heven

C) Keoladeo Ghana Karnajcka Birds
8RBrerdR/e Poe Sl DHen

D) Kaziranga “Assan One horned rhinos
B0 | TS &oéﬁé"aﬁw& aac{‘éc‘éae)men

The correct set is388 Ss

()B&D (2)A& D (3)B& C (4 C& D

. Contractile unit of a skeletal muscle | ©80isod® K08 ([Bmeo
(1) thick filaments %58 SoHHen (2) thin filaments 558 SoehHen
(3) sarcomere ZoKE podeso (4) Triad system  (Boso 5658

Space for fough work,



indiavidya.com
indiavidya.com

Indiavidya.com

AN

Code M 2012 A

( PHYsics ]

81. Inacircuit, potential difference across aresistanceisV = (8 £ 0.4) volt and current
intheresistanceis| = (4 £ 0.1) Amp. Value of resistance with its percentage error is

8 3)65355 Soc5Hos®t S0 ESe ESVlaly
_EG0 oo (Hserod ETolS | = (4 £
D880 Dend

(1) (2+56%) Q  (2) (2+0.8%) Q

T8RS B V = (8 0.4) Fey Hobas»
0.1) w020H8. ewond &hasod® DIy

(3) (2+11.25%) Q (4) (2 + 7.5%) Q

82.

Two persons can swim each with velog
is 80 m and water flowsin the river wi
the river in shortest path and second
Difference in times taken by them in ci
RO &) VRS agdh Sgheo e8P
388 (H5V0s Hboke $& Jeses) BC
558 E1Y Tood® &8, $6d wered®

(1) 1sec (2) 2 seC

ity of 10 ms L in still water. Width of river
th a velocity of 61ns L. First person crosses
person crosces ‘te river in shortest time.
ossing the viver is

10 ma =na8* S, $as® S 6 msL
0o, s 50D 306 &8 E1Y ros’, Bo&’
~§ 5636 c‘éac‘é?g 1=500) é?gé&fs

/3

(3) v'2 sec @ ) sec

83.

A stone is projected with velocity of 1€

WDZ ms ™1 at an angle of 45° to the horizon-

tal ground. The average velocity of stope during its time of flight is

e.8 TP §8e JFrods Serds 45° §

HerPoHS oo SPHe Tron Hen Jso

(1) 10 ms™1 2) 10y2 mst

€90 WA 10\/DZ ms™1 Sxos® ($8%0 B,

(3) 20 ms L (4) 5y 2 mst

Space for 1
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84. A chain consisting of 4 links each of mass 0.2 kg is lifted ver- _

Code M 2012 A

| e d

tically up with constant acceleration of 2.2 ms™2. Force of 1

interaction between 18t and 2d [inks shown in the figure is

o Feond® w898 0.2 8 (v (S50

N

&9y 4 905w AN

S5y SaN oD, & SESHH 2.2 MS2 Semos® 28 errHEr &

e, 1 SoBos» 2 oo LG (8T
(1) 96N
(324N

(2) 72N
(4) 48N

85.

A body is dropped from a height of
coefficient of restitution between body
the body before coming to rest is

a8 $HH 60 . ey 00D SNED
OIEIG EF) Sod S0P Jop A
eas0 [i , ond sATSY S|
(1) 60 m (2) 100 m

60 m. It falls or/graund and rebounds. If
and ground i< JZ ,total distance travelled by

P, b R0 AFD 28 dABoB. & DFore
SIEERE SIAE ISV e oy @@géﬁgém
SOVECTANIIN W folfaVtefe!

(3) 120 m (4) 90 m

86.

A body is projected up-vetically with
point 'P in its path is 'U". If the body
Kinetic energy of the body at the same|
28 S0 'E HEE P8 DRBSH D &
50D BGoH S50 8 BB, &R &
()E-U (2 2E-U

energy 'E'. Potential energy of the body at a
/ is projected up with double the velocity,
point 'P' is

oD P ol Dot $¢ w0 J8a¥g U e
oy P& 8059 18§

(3 4E-U (4 E+U

Space for 1
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Choose wrong statement in the following.

0ol PRSI0 58

(1) Internal forces do not effect the motion of centre of mass.

©08gS were Sy ($550°8 oo &
(2) In uniform gravitational field, centn

QO 1HLHeE (B0 (KT8 Bol&o,
(3) When abody at rest explodesinto ty

heavier fragment.

RYpore &) S0P I0 (Ko

T Reom08’ S3°0) GO,

e of gravity coincides with centre of mass.
K808 &S bR Gorom.

vo fragments, centre of mass moves towards

b) Bod grrrear O &8TE BIS (Haseed

08, ($5550°8 Bo(So oE (X508 HOAS aro BFS® [Holrdob.

(4) Sum of moments of masses about t
$5550°8 Bo(oR ($&50°8 (grsomre 83

ne centre of mas>is zero.
Bah oo oa?).

88.

A body is kept at rest at the top of roug
3V _ ‘
Mg = I%I) . If body slides down & <1+

14 ms™1, length of inclined-nianzis
0

o 309 30° aren &0, Uy = o

QYo o, & M 8ob8 BOIY)
(1) 50 m (2) 100 m

I&_LI‘B

birclined plane of angle of inclination 30°.

paches the ground with velocity of

éagsa D0 EOAS sren oo &9 c‘écg

b5 3o 14 MS L wowd, sren oo SRES
(3) 150 m (4) 200 m

Space for 1
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89. A thinwire of mass'M' and length 'L' is bent in the form of aring. Moment of iner-

tia of ring about its diameter is
‘M ($550°8, 'L DS 998 B ok

Elen ¥ B0 SaSehBTh. dord Bk,

SEN0 DB @S] (gRoE0 Dend

ML 2 ML 2
(1 L (2 L
22 42

ML 2 ML 2
(3 Ll (4) LI
612 82

90.

The masses of Earth and Moon are'M" §
tively. The centres of Moon and Earth s
speed with which a particle should be p
so that it will escape to infinity is
g, o[ (SSgTeHden ‘MY, 'm' a°§3°cq*
'd'. &¢3 $aess Do) 0D a8 SRHD o
S3osrdys 8% Srko

D;]C—;D(M +m)
(1) 4 OO

1

1]
AGMm
(3)\/D:Dd

hnd 'm'’ while their radii are'R' and 'r' respec-
ystem are at distanc='d' apart. The minimum
rojected from aioit midway between them

e R,/iw BINOW.  TE Solro Vi ab e
Fo . &ro0 IENEore (H8Ho Bosreod, HHo

d

” \/“ﬂz}%(M ‘m)

DI% (M +Dm)
(4) '\/

LIT]
d
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91. A particle start oscillating ssmple harmonically from its mean position with time

period 'T'. If a, b, c are potentia energi

respectively, then arrange the potential
¥ Ko Sucsy Hochh 0D 2chendd

IE ,|£, ﬂ Toro HE Eeao B, B
12 2 4 e ®
Shvleyole)

(Dcab (2 b, a

es of the particle at times of & & :EI‘
12 2 4

e oftt et " |
[ Soarsds weod® Sogren BVC0d.

b FHen 8, b, Coond 8l et’rn [Fos®

(3 abc (4)c, b a

92.

A light rod of 1 m is suspended from

1 the ceiling henzontally by means of two
5 ends. Oné of tne wires is made of stegl of

vertical wires of equal length tied to it

area of cross section 0.1 cm? and the ollher is krzezof area of cross section 0.2 cm2.

The distance from the steel wire at whict: z2:v:eight may be hung to produce equal

stresses is
D 8y 00 Serchar VEwE FUD IR
208 £42 89D §8a Jkrosorn Ferdst
388 &K ‘536537365 S0 02 %0.&.2
TR IS Todd S’ (H8x
POeR) WEPEAS o

(1) 0.5 m &, (2) %[ m &,

) i\g@o, 388 8o FPloH af et §PC§@€6&
. ‘ée» 8K Soesshs arego 0.1 R0.80.2,
‘%)DQD &K B8 L0 Foss ot S’é S0

eren ddeSore bdo)acfoaa. e9000S é%gen &K 200D

(3) é m &, (4) 64 m &».
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93. ndrops of liquid each with surface energy 'E' combine to form a single drop. Then

Q)9S 6H0do ¥8 'E' O N5
A) some energy will be released in the

DoHHos &8 Bl DO EOTRE. @K@Qc‘é
process

& [DEHS® o ¥8 DebEoHEHod
B) some energy will be absorbed in thq
& (DBoHS® Fod ¥8 PaLHHHK0.
C) energy released will be E (n — n/3)
D) energy absorbed will be nE
(1) A, Caretrue A, Cen 333D

(3) Only Alistrue A S»(g $god

 process

D535 78 E (n-n7l3)
FASHS ¥8 NE
(2) B, D aretrue B, D e» 3839
(4) Only B isitive B Sw@ $g0&

94,

Three capillaries of lengths L, é and
f; and @ respectively. If streamline

across the ends of first capillary tube:i

L, [; , [é PP S THLFEU
DB P wdrh B¢ LD, (Do
$06s5 &S Beso P ewand

(1) second capillary tubeis8 P
(2) third capillary tubeis8 P

(3) second capillary tubeis 27 P
(4) third capillary tubeis 36 P

[I;’ arecvanected in series. Their radii arerr,
flew-is maintained and pressure difference
'+, "then pressure difference across ends of

o T, g , [; @55005055 (368° EOarH. HEBD
o0gr (Harieod® od. Ik IRy Fle

Bo&® BITRE Fle gy HES Bgo 8P

& AT Tl Sogy s Do 8P
Bo&® BHPE &l Sy DS Do 27 P
S BTRE B0 gy DS Ao 36 P
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95. A vessdl of volume V' is half filled with aliquid of density '2 d' and coefficient of
cubical expansion ‘2 X' and other half is filled with another liquid of density 'd' and

coefficient of cubical expansion 'X'. If temperature is raised through 4° C, mass of

liquid expelled is

V' 080080 &) RSt DK )
&) (8508 Qoardd. DADS Diferrey
($50&° dod, eSS 4° Cpooeth. o

(1) 9 Vxd (2) 12 Vxd

| 2 d' Fro(iss 2 X ox8008mes0 agES e
d' Fol@e, X o808 T8 rheso el
008 TPgPan (Ko ($X50°3

(3) 6 Vxd (4) 4 Vxd

96.

Two bulbs of same volume contain i
absolute temperature 'T'. The two bulbg

deal gas at s2me piessure 'P and at same
 are connectec oy anarrow pipe. If absolute

temperature of one bulb is doubled, angl other/ouitis halved, the pressure of gasin

the system becomes

QLTS 300K ;ee0 6 Bod aae;a?)éf

0B, & ook IHS TF¥o e 58
ey DI &%@éz& Jfo Bael estnd

(1) P N

Préiso, T 865 s 8¢ ssgaams
h I wey) D8 PSS 3o, Bos®
é?gc‘éé 3¢50 R0y, 330

@ @
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97. Match List - | with List - Il (the terms have their usual meanings).

2 - |, 2D - || 0l 23838504,
List-1 =& - |

A. Isobaric process $s9ES (H8cH
B. Isochoric process $580508:585me (9
C. Isothermal process $vedfee (©(8
D. Adiabatic process &%y (H(8ad

(1) A-l, B-II, C-IV, D-11I

(3) A-Il, B-1, C-1V, D-l11

List - 1l ex&& - 1
dQ=dW
205 [1.dQ =dU + dW
35 1. dU = -dwW
V. dQ =dU

(2) A-1l, B-IV, C-I, D-IlI
(4) A-111, B-1I, C-1, D-IV

98.

Three identical metal rods of same met
plane such that the angle between any ty
aremaintained at 0°C, 120°C and 120°(
the temperature at the junction of three
2.8 S0t F1S Hawed NIe RSN §é ;
Q. ?Soogagé"zée» 0°C, 120°C, 120
Lo S0 B¢ S

(1) 30°C (2) 62°C

a are welded touether at apoint and liein a
vo of them'is 7.20°. The free ends of the rods
C resgecivdly. When steady state is reached,
FOGS IS

& aSIRES 120° oo Sher a8 deod®
Co S8 sanon. J8E 18 5§ S $den

(3) 80°C (4) 90°C

Space for 1
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99. Anideal heat engine working between temperatures T, and T, has efficiency of 'n'".

If the absolute temperatures of source is doubled and that of sink is halved, the new

efficiency will be
&8 665 slohoo Bwy) eRasto Tq
1S SE eI SES N EOR sod.

D0 Gl 1S 28, 63X T aes0 w00 6ol
s iesSso gy 8L c—:ig@%éa [SESEY) 3R,

Pheowd By D85 eSS o T SEE Dewsd

1-n 3+n
(1) T, (2 T

2+

@ T

) n

100.

5 gm of water at 30° C and 5 gm of ige at — 20° C are-mi.«ed in a calorimeter of

negligible water equivalent. If specific

heat of iceisf.5ca/ gm/°C, specific heat of

water is 1 cal/ gm/°C, latent heat of fugion of ice 13 &) cal/ gm, mass of ice melted

IS
30°C ¢ 5 (rswe 3, —20°C £& e
&%) SSDDRBHS SOF. St DI
1sgeb/ (e odR&, Soi (Edald
(Bg0°3

(1) 2gm

(™. (2) sani (.

S [rene L0l sleedn %Déag?go g0
%;f) 0.5 s*goé/ (PS/ 208RE, de @%Q)HE;XS%O
6 h8%0 80 s5eb/(Td wond, EBAS B0

(3) 1.25 gm . (4) 25 gm .

101.

A string oscillating at fundamental fre
6 beats per second with a tuning fork.

guency under a tension of 225 N produces
f the tension in the string is changed to 256

N, again the string produces, 6 beals per second with the same tuning fork.

Frequency of tuning fork is

2t 80 225 Sompenld S50 )
5% 6 dpsTeen DXL, @ 8K
[HES0EoE® ELDH 6 LT YD

eSE3 ore8os® Koy el (HBLorod®
55850 256 S 0DSHD T 0l
Bod. wowd (H&Sodo FLeHgo

(1) 256 Hz =g,  (2) 225 Hz

&
3

26~ () 280HZ 5
N 2

(4) 186 HZ 35
a3

2N 2y

Space for rough work
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102. Regarding stationargy wave.

3;56 SBorel8 $3S a°§as§®263 DB ook,
Statement A: In one particular loop different particles vibrate with different ampli-

tudes but with same timg period.
Feeg Al ¥ %&736’550 DA EeroH K0P Hoehen D Gotron T8 oSS
TPEPED  IPR0.
Statement B: Phase difference betwegn two vibrating particles on either side of
antinode in the same logp is N radians
Fowe Bl et &533@5’5 ESISyelaty fgm&)é o Hor &) Sero DG @"365; 23S0

M 3&cHis.
(1) Aistrue, B isfase A dzo, Bsw
(2) Alisfdse. B istrue. A 8%, 8 &eo.
(3) Both A, B true. A: 2 Tur deo.
(4) Both A, B false. A, 3 Bodre &)

103.

Sound absorption made by a substcice|in time't' is half of sound absorption made
by open window of half of armaot substance in same time. Absorption coefficient
of substanceis
& dTgo QY e0s® §100D8 G0 48 HoSre0, wodsreod® SNlags] @&goé's drso
DYYo &) VOO 888 FRoDI D FEP® Vo wod. wond SRS Fhe Heero
(1) 0.25 (2 0.5 (3) 0.75 (4) 0.6

Space for fough work_
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104. An achromatic convergent lens of focal length +20 cm is made of two lenses in

contact of materials having dispersive

powers in the ratio 1 . 2 and having focal

lengths f1 and f,. Values of 1 and f, are

2.8 0d8 &Y Sodirro Hogrsd Sesody
0% Boh E&E Kawg DZHed ﬁ%ﬁag;?g@
D& easgosoeen fy, ) 9008 ¢ Dende
(1) f;=10cm, f, =-20cm
(2) f;=-20cm, f, =10cm
(3)f; =-10cm, f, =20 cm
(4)f;=20cm, f, =-10cm

SVUD 207 0. b, SeoBTOS oL, J00T®
b 1. 2 @X;eraoesﬁ 7). &3 Both Bezre DE
bo
f1 =10 20.&., f5 = =20 0. &v.
f1 = =20 20.8., f5 = 10 0. &».
f1 = =10 20.8., f5 = 20 0. &».
f1= 200.8, %5 = —10 Ro. .

105. Wrong statement in the following is &

(1) Newton's corpuscular theory assum
corpuscles.

Srgeos Bew dTFoFo ([(H5°K0 Seroly &3

(2) Phase difference between two polit
IS radians.
a8 SBorr(foS® % $edod® &) B
(3) According to Wiener experiment,
vector but not due to magnetic fielg
DSE  B&rero (B, FoeFrRE
eao‘iﬁ"&.oé 26% (Perdso BAHD.
(4) Huygen's wave theory of light fail
ton effect.
PPOR) Sorf drrodo wod DELS

“
O

BFRS® §HN 0 aegag
es that 'souvce of light loses mass as it emits

308 TPo8eSEo S, (S8 Sk totwod.

5 seperated by adistance % on awave front
0eH Dochde Sy SeEco M BEaHKy.
Photographic action is due to electric field
vector.

oEo SRS J07 (Herddo BRod. D

5 to explain photo electric effect and comp-

(Serso, E?o&éS (Derared DIB0DBEE 0008,

Space for 1

ough work.
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106. In Young's double dlit experiment, wave length of light used is 6000 A°. If the path

difference between the waves reaching
at that point P,

apoint ‘P on the screen is 2.1 microns, then

0Hof 200dIF (HRFH0S® SETod SPoRgZo BUOT A, Boi DIES o) P o

A lOTANY) ENIAEY 23 Boh &orre 0G5 ¢85
(1) third dark band occurs

(2) third bright band occurs

(3) fourth dark band occurs

(4) fourth bright band occurs

rago 21 ey wond P ok $¢
35 &ygdares [Frodo AHsos.
35 &xgBB00H (080 YOS,
A4S axBIPS (@Pogo Y08
4S5 5g8500%H (Poto A EEod.

107.

Unpolarised light of intensity 32 w/m?
transmission axis of the last polariser i
of emerging light is 4 w/m?, the angle |
ersis

Boredy (Ghdeasethen )T wEren S0 &F
50 Sr&l G o8 wowcT 5
HlSS 32WIM2, Sor& (05850 0D
(oSesmthe E)Teoge S w0
(1) 45° (2) 60°

passes throug!1 ti2e polarisers such that the
5 crossed withitirst polariser. If the intensity
petwean thc axes of first and second polaris-
5 GoGer 2.8 S8IS° womrdh. InSETR &)
6. IS (05t DSIS  e9(Hdea5e0S
B (9560508 858 4 WIM2 eond Smese3 otk

(3) 30° (4) Zero oam

Space for 1
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108. When the bar magnet used in the vibration magnetometer is heated, its moment of

inertia is increased by 21% and magnetic moment is reduced by 19%. Now per-

centage change in the time period of vi

bration is

. F0dS @008 SrHEos® oS
21% 28n08, eao‘Saﬁf’&.oé ero5o 19%
(1) increases by 22.2%

(2) decreases by 22.2%

(3) increases by 44%

(4) decreases by 56%

BOBECHIY 00 SGRoR 0 BGST [GPao80
SN0B. wowd oTrSYS Feos® Sy wdo

22 2% &iH&08

22 2% Srhsod
44% DSHroS06
56% Shod

109.

A bob of simple pendulum of mass 4 x
oscillating with time period T4. If an
applied vertically upwards, time periog

2.8 odnstorostd R¥o (S 4 x 167

God.  J8ES Eo (BRehop e
3.6 x 10*N/C. 265585 Flovd)y Nudensd
(1)4:5 (2) 24

102 kg w.th susitive charge 4 x 1079 C is

electric *iald of intensity 3.6 x 10* N/C is

brtemes T, If g=10ms ™2, T, : T, is

% e P 4 % 1076 oo DESTRF0
E020SBAIYNH  Sodesgs oo Ty

e 28 (BRrACOIHD oS swo To.

33:4 42:5

Space for 1
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110. Two plates of a parallel plate capacitor are charged to 100 Volt. An insulator sheet

of 2 mm thicknessis partially filled between the plates. To maintain the same poten-

tial difference, the distance between the capacitor plates is increased by 1.6 mm.

Dielectric constant of insulator is
JSrodsy Hoe BFrded Heve gy
oo g 2mm oo e §EEd
s Jofe iy droedy 1.6 mme
(16 (2 8

D e 100 CSBQ%JD@ 6?)'5@@10535 3 God.

et r8Eorr Qo8 &@@6@0&5 5o

8 SDPd. wond o] &8sy Qoeogo
(35 (4) 4

111.

A graph drawn between potential diffel
between the terminals of acell, and cur
the circuit by varying resistance is a
Internal resistance of the cell is

2.8 Seochost 383&3 Ao Fotro &

BYSS Fge (V), Sochod® €Bod
ARG (B D0t Seddey eod e
0088 JPE0 Dend

(1) x%y (2 xy?

X
O @

ence (V)
rent (1) in

—>

S shown.

N &)‘J\SES
RSl
DO o?még).

Space for 1
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112. The ratio of Ammeter reading when the switch 'S’ is opened and closed is

EAN L0508 ?\335 'S 865)26@3&3, 6Q 12 Q
SRS wdyeth ddorbeo®d By — MWW
DY, FA s —
DH1:1 (2)9:8
(3)3:4 (4)1:2 AR Mp—AL

12 Q 6 Q

113.

If alternate current is expressed by

I = (3 coswt +4sin wt) Amp, rms curt
28 S00Hos® dsoss §Botndd DESe
MS 300 Dend

(1) 5AMp e02cHd

(3) 10 Amp es02c86

114.

ent is given by
b | = (3 oS a4 Sin wt) es0oHdy evond

(2 5\/'3,_ AMmp esocHd

5
(9 % AMmp es02cH8

Magnetic induction at a point 1 the ax

netic induction at the certre.of coil whe
of cail is 10 cm, then distance of that g
288K hey o DS (DSEKE, God.
QothHy S¢ @oﬁafﬁ&oé (B8 Dend Bo|l
HE &Pe@"go 10 20.& eond X' dend
(1) 5cm (2) 10 cm

sof acircular coil iSZI_VJ% timesto the mag

n current is passed through the coil. If radius
oint from the centre of coail is
> oo Ko efchdeP X Srdos® &)

o 35 @oﬁafﬁ&oé (B8eatH 2% By God. &K
v

(3) 15cm (4) 20 cm

Space for fough work_
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115. In Millikan's oil drop experiment, an oil drop of radius 'r' and charge 'Q" is held in
equilibrium between the plates of a charged parallel plate capacitor. If the polarity

of plates are reversed, then oil drop

YT BoBoHY) BRerios® T FgIrgo

SELPBE JSrosy Seso ozl dese

TRITOL TP SHIH B, @ 3

(1) Continues to remain stationary
20"3’3@?8@@3‘53 GO0,

(3) Moves up with acceleration 'g'
28 g $18e0s” ([Huiredyod.

&3 SO0V Q Ba30 G DeRe

Boes; WBEHIS® Bendob. Ho¥ep &) DSy

A OIANY)

(2) Moves down with acceleration 'g'
8008 'g' #ie0s® [Hasrednod.

(4) Moves down with acceleration 2g
8008 '20' #c0unos® (Hairednod.

116.

The deflection of magnetic needle in t

Angent Galvariometer is 30° when a current

of 1 A flowsthrough it. When it is used at some-other place, for a current of \/% A

through it, the deflection is 45°. Ratio
fields at those placesis

o [BB¥0 I eroBodS mrexan. S&Hno
e wddgto 30° SHpd.£3 wroBo
SO \/53, BORADY  FB0ENT0, DI

0 herizontal components of earth magnetic

$005H08° 5O aF @odoHd B0t HoRS
5 ot ekl §8 Bddo S8 Hochos®
45° 58P0 SHPd. © Bok (DdTe &¢

g ool g §8r Sirodd ooy QG
(1) 1:1 @ 1:v3 @) v3 1 4)1:3
Space for fough work_
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117. Let K4 be the maximum Kinetic energy of photo electrons emitted by light of wave

length A4, and K, be the maximum Kinetic energy of photo electrons emitted by

light of wave length A,. If A1 = 2\, then

o 5 o A SBorglso &) D%
oS, Ap Sor@ggo &) ey Hed
Sev &rpdeasegon. A = 2hp wond

(1) 2K, =K>»

Ko
Q) Ky <—
2

ARNSERSAS IO ES ﬁ@o& noads K1 &) SP0e
Sp3ed 10y 8zds Koy EOAS 5208 Qo
(2) Ky =2K;

(4) Ky > 2K,

118.

Half life periods of two radio active sul
utes respectively. Initially both samples
utes, the ratio of remaining number of
A, B 3 3ok 3&@?@8&3’ STe el
gSos® Both Zawqgezf D& Bogszren
&0 BoLHor DAL BolEsee ALY
(1) 19:81 24"

)stances A anc B ave 20 minutes and 40 min-
have equa.nimber of nuclel. After 80 min-
nucle 0 Aand B is

$Jes, suren 20 dwaren, 40 dvapen. ([@rS0

~

. 80 dwaren KEDS Soxg A, B os® 9%

(3)1:4 @1:1

Space for 1
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119. Assertion (A) : In order to double the area to be covered for T.V. telecost, the
height of transmitting antennais to be halved.
Towg (A): 8028 (Brdo @0h yYo BPoH Voreos (Be croBan D

J5o BA5ed.
Reason (R) : for a T.V. signal, popu
population density and
2580 (R): BOO=S [Pardo BB &89
Brdo B3 DY the vy
(1) BothA & Raretrueand R is correy
A, R3Bokr 385, $0050 R eI
(2) BothA & R aretrue, but R is not cf
A, RBokr 33859, =0 Reldd AD
(3) Aistrue, but R isfase.
A 2e0, ) R Q220 =0

ation covered is equal to the product of
ea covered.
gy Dend o8 Her &f) 2SI,
D8 JdeSo.
't explanatin of A.
\ 5 35BS DS,
prrect explanatic,n of A.
QB3 DSYre w4,
(4) Aistdse, but Ristrue
A Ness %, 8 R Qeso.

120. Wrong statement regarding biasing.of frcnsistor is

¥ (EPQRED Sochos® wasef Banhroe

> FPAIr0S gy

(1) Emitter of NPN is at loway potential than its collector.

NPN (86 2868 28RS &
(2) Emitter of PNPis at lower potential
PNP (¢80 8° 2888 &°8aHs &9
(3) Emitter - Base junctions of both PN
active region.
STRB-TPE0 208 [Bosede [@rogos® PN
(4) Collector - Base junctions of both
In active region.

DES &0 531’@‘30535 SYS &owd.

than its collector.

& emrd @"é‘dgoﬁae‘? SIS GoTd.

P and NPN transistors are forward biased in

B NPN (¢80 Bo&o83E® HEP0RS® Gowd.
PNP and NPN transistors are reverse biased

28068 - eprdo D08 (Bofrde ([Progod

° PNP, NPN ()¢ Bodo3s® 88°airles®

GOTPD.
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121. Solubility products of three salts AB,

AB and ABz a 298 K are9 x 1078,

1.08 x 10-16, 4,32 x 10-14 respectively. The correct order of their solubilities is

298 K 3¢ AB, AyB, ABg ol surid ©
1.08 x 10716,4.32 x 1014 esondd es
(1) AB> A,B>ABj
(3) AB =A,B >AB;

Sere (rdedohe vepey SHIP 9 X 10-8,

ol [dere [ddahde ¥3S [Edo
(2 AB>AB3>A5B
(4) AB >A,B =ABj

122. Zwitter ion is formed by
(1) Aqueous solution of alanine
(2) Sulphonated aniline

200 woirs Bo’ bdgcéaéaocsoéﬁ
AORS B[S0
éeS*bé&Seao TS

(3)Both 1 & 2 Bodr
(4) Neither 1 nor 2 1seess 276
\()‘\\“\“\/v \(
LV/2: R
Bagyer's reagent po md'w”ek\c 200
Y
123.C,H, TTLI LOX e
273K lch, i~
) Za’_ .
Ry ith
: Caci
WhereY, Z are respectivery g - Z
o8
o R SN N
ZoHd =8Eo
C,H, [LT1] X
273K Fos
@@@0@6
ag Y, Zeo Sl §Sd - >
(1) Glyptal & Terylene ArdS, B8OOI
(2) Perlon & PET 28,
(3) Dacron & Neoprene TS, IS
(4) Terylene & Glyptal 8598, harsS
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124. The ratio of AT/GC ratio for human bei

Code M 2012 A

ngs and E. Cali is

SedHen, 2.80 o AT/ GC DKo AN

(1) 1.0: 0.6 (2)15:1.2 (3)0.6:1.0 (4)4.0: 3.0
125. One of the constituents in dettol is

aesege‘i_e?s S0G a8 9d0neaso CHs

Cl Cl

AN S

(1) <0)-s—<0) 2

a’ cl OH

CH; CH.

OH
3)

NHCOCH,

(4) Both1 & 2 Boc

126. Two electrons of two Hydrogen atori =1
radii 4 r and 9 r respectively. 112 vatio
revolution is
Both el HESrHosd TodS Bo
S5 SB[ wdpTow. 2.8 Do
D1:1 24:9

nove around the nucleus in circular orbits of
of the times taken by them to complete one

5 QOTHY Solesso by 4r, Or av?gﬁ"q;enzé&
BHRE 38 HE ere DG
(3)8:18 (4) 8 .27

127. The transition in the Hydrogen atom
Brackett transition from n = 6 of He" ig
He" eosrs (88 [Feds® QoS N=6
HS® D HOLY LS SSon@oe g8 D&5°58504

would have the same wave length as the
DN iS

(200 S8SHH wod SBor@gso, H S8smen
&

A

()3 -2 24 - 3

N~
3
al
I~

VAo \ W Al
\VY) VU —=> 5
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128. The correct order of second ionization energies of Cr, Mn, Ti and V is

Cr,Mn, Ti,Veo &Séo‘ia 08T FHe
(D)Mn>Cr>V>Ti
B3 Cr>Mn>V >Ti

8BS (g0
(2QV>Mn>Cr>Ti

129. The species with highest bond order is
R 20F(E00 6J) &

(1) No
(3) NO*

(2) CN™
(4) Equal for al @Q&oéﬁé Jddebo

130. The correct set among the following is
(1) NO,", Linear (38cs0), S
(2) NOg', Pyramidal (25208), sp?
(3) CHg, Pyramidal  (2520&8), sp2
(4) CH3', Trigonal planar  (¥&sse (Bae

8ooare3S® 3N Dauresro

0), Sp3

131.8.1 grams of an oxide of a mei=.0i1 re
the metal. The smplest formuiaof the
B8l & 6860 re RS EaHEy
$E)E Fyer (80 HBSrm ardo
(1) MO (2) MO,

duction with Hydrogen leaves 7.2 grams of
pxide is (At. Wt. of metal = 64)

0 B 1.2 [(Pdwe o HAdod. & &
54)

(3) M0 (4) M203
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132.Cl, gasis sent into 100 metre tube from

Code M 2012 A

one end 'P and H, gasis sent into this tube

from other end 'Q'. At what distance from 'P with the two gases meet?
100 &oeg o o 85 P $od Cly sroind, 808 85 'Q 00D Hy arasndco

H02R, P&ES %09 & Bokn arainder

Naes &mr‘(r\pqs t(n\\:/xb/\mévmr\\\?

(1) 8563 m  (2)14.37m
85.63 &. 14,37 %.

(3) 70 m (4) 30 m
70 %o, 30 &.

133. The ratio of the depression in freezing
ZnCl, and Mg(NO3) is
0.5 M KCl, ZnCl,, Mg(NOg), eso(meses
D 2: 3:3 (2 2:2:3

D

point of 0.5 M aqueous solutions of KCI,

© F0d IS ﬁ;zé Qend 3N
3 3:2:3 (4 3:3:2

134. If 120 grams of Ureais present in 5 litr
5 &g (rdesnss® 120 (reswe cHiedose

es of sulusien, the active mass of Ureais

Gl 9008 CRedair [Bosrle ($850°3

(D 0.04 (2 05 (2¥ 04 (4) 0.6
135. Match the following.
80Hare3d REJTL0E.
List -1 erde - | List -1l e - |
A) CrO, |. Diamagnetic KOS 90T .08
B) VO, I1. Ferromagnetic (6° a0
C) ZnO I11. Ferrimagnetic B wchI) ol
D) NiO IV. Anti ferri magnetic oo 38 ech ol
V. Paramagnetic T eCHIY 0
The correct answer is 335 Sdwaeso
A B CD A B CD
@u 1 nv @v 1V
@UIvIIn @ v 11V

Space for rough work_


indiavidya.com
indiavidya.com

Indiavidya.com

A\

Code M 2012 A

136. The molar conductivities of A ,oac and A, at infinite dilution in water at 25°C

are 91 and 426 S cm2/ mole respectivel

O .
Nroac 'S

y. The additional value required to calculate

< o4 V.EaYad

25°C 55 D86 eibod 2o £ A
Scm2/mole esand Afopac @ 88,050

(1) Ao @ N

l’\\O oo rregtser— S 91426
DAC ' " HCI g -

e9¢3Sorv @266(5&65323 Dend
(0]
(3) AH20

R
b

(0]
(4) Ach.coc

137.A gas'A' at 2 atm is bubbled through :
and 2M C™ ionsat 25 °C. If the reduc
25°C ¢ 2M B™,2M C~ wosmd)
FONHS HoarH. e §oorESes 5)"’@23(
(1) Y will oxidize both X and Z
(2) Y will reduce both X and Z
(3) Y will oxidize Z but not X
(4) Y will oxidize X but not Z

A solution containing a mixture of 2M B~
ion potentialsof C> B > A, then

DI (D088 (2 eempdnohy $¢ A’ e
pHS e C > B > nieoomdSd

X, Z oY 55505006

X, Z 0% Eoorsdnob

70 es§ysoon, =0 X 9 w6

X0 Y g0, =0 Z =%

138.For thereaction P+ Q - R+ if congentration of Pis doubled, the rate gets dou-

bled. If the concentration ¢f ('s1ncreas
of thereaction is

P+Q - R+ Sl z‘jd?ge?‘s P reegesdo
9 Ben 2008 Téw 3 Byougod. e I
(1) 2.0 (2) 1.5

ed by 9 times, therate getstripled. The order

Bégoé) 3?590 Ben Koo Bégo:a_)o&. Q regesso
[EX5e080

(3) 2.5 (4) 1.0
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139. The value of K. for the reaction

4S50, (g) + 205(g) = 4S05(g) is 1.6 x 10° at 299 K. Then the equilibrium constant

for the reaction SO3(g) = SO5(9) + é O5(0) is

209 K 3¢5 4 S0, () +20, () = 4505 () i s K deos 1.6 x 105 wond
SOz () = SO (&) + [ Oy (&) 1565 | K dens

(1) 1.6x10™° (2)2x 102 (3)5 x 102 (4) 1.6 x 10~2

140.The acidity order of phenol (1); 3 - Nitrophenol (I1); 4 - Methyl phenol (I11);
3, 5 - diNitrophenol (1V); 2, 4, 6 Tri Nitrophenol (V) is
S (1); 3-3Epaed (I1); 4 - 2885 [daes (1); 8, 5- g3fpad (1V); 2, 4, 6
B drdo s (Eo
QV=>IV>Il>1>1 (2) IV >V > >
Q) I>1>1>I1V>V 43>V >V > >

141. If both the AH & AS are —ve. then thé hature of the reaction could be
AH, AS e 3o e o e 00e S8 Peerdo

(1) Spontaneous at low "T" S5 T 8¢ wahén¥demo
(2) Non-spontaneous at high 'T' 0os T 8§ wchd)Eno s
(3 Spontaneous at all 'T' o) T'o ¢ wohdEoo
(4 Bothl& 2 Bogr
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142 Tyndal effect is observed only when

Code M 2012 A

BorS HOTQ) Yo KLo0BHE

(1) large difference in the refractive index of dispersed phase and dispersion medi-

um
DESH, (Y, VEDE oS SEFSS
(2) Thediameter of the dispersed partic
of light used.
DED Eero a”?géo, EIRPA0NDS BP0E]
(3) Both1 & 2 3o
(4) Particle size of dispersed phase is
solution.
8D, Fewo HOXweso, dez ([@PHeaos®

QPED éocﬁeg BR0 EY DM &é&@gcﬁa
lesisnot much smaller than the wave length

SBor@ggo o8 b e BIY
s small as the particle size of solute in true

(DS Eero 1O €00 K08 D{Hre ﬁé&@gdﬁ)

143. Incorrect statement among the followi
(1) The formula of ferric alumis FeSC
DO woik ryer FESO, . Alx

(2) SO, isliberated when Al reactsviit

Al e HySO, &° S8 30BN N

(3) Theratio of water niolecurasin Dia
EieNG, AS RS, e TS D e

(4) B,C is hardest substance known
HTH BOVS 0dKE o“awgo B4C

QIS Gowerds® Jos0 argey

7. A\15(SOy)3 . 24 H,O

£04)3 - 24 H,0

n Conc. Hy,SO,4

D) Se05¢e0b.

spore, Gibsite and Bauxiteis1: 3: 2
090 DG 1:3:2
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144. The group of elements passive with Conc. HNO3 are
i HNO3 & (Sosrorirangd) o Swrewe S8mdro

(1) Ba, Ca, Fe, Cr
(3) Mg, Ca, Fe, Al

(2) Be, Al, Fe, Cr
—(4)Be Al -CoNi

145. The volume (in lit.) of perhydrol requir
sulphur is
1 3»S od§ é@q}&‘b S5S0 Bohgweds
(D 179218, (2 224 18.

ed for the combustion of 1 mole of rhombic

SIES SEpRES Hd Hodrwo (Degs?)
(3) 179 18&. (4 17.918.

146. Cyclic Silicate among the following is
(1) Zeolite 2RSS
(3) Beryl B35

8oHPBS® Serce. HOBE
(2) Willernite DYDE
(4) Kaein ER0OS

147. When P40, is dissolved in water, a
formed by X are
P4O10Q dBS® €8AY X e eiyn wdy

ada X is formed. Number of salts can be

2od. X 3360361‘5(‘?@75\ odere Hogyg

(D 2 (2 3 3 4 4 1
148. Total number of lone pairs present in Dithionous acid are
BERPER 6RoS® oG 2,000 2000 Doy
(D 8 (2 6 (3 14 (4 10
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149. Number of Plannar atoms present in IF are
IF7 &° &8 good® @od H8krensde Sosyg

(D 6 (2 7 (3 5 (4 8
150. Noble gas used to prepare Lewis acids|is
ool sEROH Sorth JoHER8 T (el s TaND
(D He (2) Ne (3 Ar (4) None Q&s°¢%

151. The type of hybridization observed in th
S Dosbsdeso

CoCl3. 6 NH3 So(85 ereanid&® #0036
(1) sp3d? (2) d?sp3

e Central atom of CoCl3. 6 NH3 is

(3) sp3d (4) sp3

152. The principlesinvolved in reverborator
DSBS O, 2] FOMS® add &)
(1) direct heating & indirect heating
Sesggore S& Boheo, Ko BLia
(2) indirect heating in both
Bo&oBS® K H&°5on IABUhEo
(3) direct heating in both
Bo&oBS*Er (Hegorr S&WahiEo
(4) indirect heating & direct heating
S&Eorr & Banhio, Sesggore RleEator

y furnace and blast furnace are respectively

WPy SEdre

3250

5250
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153. Green Chemistry involves &8¢ Srahdago ardad
(1) Maximum usage of Chemicals
EROHTTOE QTN a0

(2) Usage of H,0, for bleaching cloth§Tn Tatndries
o8 ko HOoR By HoOp & eddirAosio.
(3) Production of green house gases
0 i OO &Y BoigEo
(4) Maximum consumption of energy
FEQ AEYS DIZA0TE

154. A liquid mixture contains 2 liquids A (B.P. 36°C) aws-B (B.P. 73°C). Suitable
method to separate A & B from the mixture is
28 (85 MF0d® A (aripaf 8 po 36°C), R (s o 73°C) &3 Boch (e
o on. & Fsvo Hod A, B o S mubn 28 edwodod 0385 Tl
(1) Steam ditillation
20 ara) S0
(2) Distillation under reducec’ pi=usure
S5 Hisso H S
(3) Fractional distillation
@"Qé 903 'csoogcﬁéo
(4) Distillation
e8E0
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155. Assertion (A): (2R, 3R) Butane diol and (2S, 3S) Butane diol are enantiomers.

2880 (A): (2R, 3R) amiS 24, (25,

3S) agBS geS oo ATQErETen,

Reason (R): Enantiomers have equal but opposite optical rotations.

>80 (R): dTr@rsogth ISrSE (g
GOLNOR.
(1) (A) istrue but (R) is not true.
(A) 3808 =0 (R) $580s =
(2) (A) isnot true but (R) istrue.
(A) 3808 =% =0 (R) S3od.
(3) Both (A) and (R) are true and (R) is
(A), (R) ex 3332. (A) & (R) 388
(4) Both (A) and (R) are true but (R) is
(A), (R) ex 3330 =20 (A)® (RS

e ([F0d GOk T wh 308 HIS

b the correct expl2nation of (A).
XSS es.

not the coivec: explanation of (A).
B3 DEs) S

O3
L1 11
H,0 + CiH3CO0H
Here product is s (8csres S50 @a

156 H — C=C — H

(1) 1 mole of glyoxal

(2) 2 moles of methanol

(3) 1 mole of oxalic acid

(4) 2 moles of methanoic acid

- Product ((8osesso)

1328 B erpd
23S o pETS

1330S esrpdeeaio
23rS o ESFPons esHo
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157. Kharasch effect is
(1) electrophilic addition
(2) free radical addition

Code M 2012 A

PoPR (Herho I6
QOEDHOF JoFoko
) (@FHeE doseso

(3) nucleophilic addition
(4) free radical substitution

é:ggécfw?p@é VOEOI0
7505533 @"@56&5 @@:siésa

158. Number of gram atoms of Hydrogen r¢
neutral medium, LiAIH,, akaline me
tively
1 38 ZEBoaS S0P ofed¥o, Li
Earg0osmd8 eddSS RS (P
(D 4 6 6 8 10
(3 44566

pquired to reduce 1 mole of nitrobenzene in
lium, acid medium, Ni catalyst are respec-

AlH,, sp8asesso, ©hosedso, Ni %@Qcﬁ&*{oés
DESrende Jooy LI

(2 481056

(4 4°%,.6 45

159. The industrial method used to prepare
FO(TE APHoS® ErYFPED Sokri

( ) 2 2 2 fj‘l Vg
( ) 2 B k"]4

(3) CH3CH,O0H [CF . CH4CH
(4) All the above methods

%F% H-‘—) C

ecetoldzhydeis

H,CHO

CHO + HCI

D

=)

QD

a—

K)Céeﬁaoi)&

160. The compound undergoes aldol conder
808 80D RS werd Yoo #0

(1) CCI3CHO
(3) CH3CH,CHO

sation among the following is
Sy¥o
(2) (CH3)3CCHO
(4) None of the above 230
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BOTANY - KEY

1-3; 2-2; 3-1; 4-4; 5-2; 6-4; 7-2; 8-4; 9-3; 10

18-4; 19-3; 20-2; 21-3; 22-1; 23-2; 24-3; 25-

33-4; 34-3; 35-1; 36-4; 37-2; 38-3; 39-4; 4

-2; 11-3; 12-2; 13-2; 14-1; 15-4; 16-3; 1/-1;

4, 26-2; 27-2; 28-4; 29-1; 30-3; 31-2; 32-2;
2

ZOOL OG

=

Y - KEY

41-2; 42-3; 43-3; 44-4; 45-3; 46-1; 47-4;
55-2: 56-1; 57-3; 58-1; 59-1: 60-2; 61-3;
69-2; 70-3; 71-2; 72-3; 73-1; 74-1; 75-3;

PHYSIC

48-3; 49-2; 50-1; 51-2; 52-2; 53-1; 54-3;
62-2; 63-3; 64-1; 65-2; 66-4; 67-4; 68-2;
76-4; 77-3; 78-3; 79-2; 80-3.

S- KEY

81-4;, 82-2; 83-1; 84-2; 85-2; 86/
91-2; 92-3; 93-1; 94-1; 95-3; 96
101-4; 102-1; 103-1; 104-1; 105-2; 106
111-4; 112-3; 113-4; 114-2; 115-4; 11€

CEEMIST

3; 87-3; (8654, 89-4; 90-2
3, 97-2,,.98-3; 99-2; 100-3;
3.1Q%-1; 108-1; 109-1; 110-3;
1,:147-3; 118-3; 119-4; 120-2.

RY - KEY

121-2; 122-3; 123-4; 124-1; 125-2; 126-4,
133-1; 134-3; 135-4; 136-2; 137-4; 138-2;
145-1; 146-3; 147-2; 148-4; 149-1; 150-3;
157-2; 158-3; 159-1; 160-3.

127-1; 128-3; 129-4; 130-1; 131-3; 132-2;
139-3; 140-1; 141-4; 142-3; 143-1; 144-2;
151-2; 152-4; 153-2; 154-3; 155-3; 156-4;
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